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1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Answers

1. 444

2. 53

3. 858

4. 160

5. 915

6. 610

7. 261

8. 741

9. 841

10. 25

11. 332

12. 248

13. 315

14. 302

15. 45

16. 1

17. 838

18. 439

19. 91

20. 148

Find the value of the variable.

1) 961 = B + 517 B = 444

2) 944 - C = 891 C = 53

3) E = 888 - 30 E = 858

4) 960 - F = 800 F = 160

5) G = 291 + 624 G = 915

6) H + 31 = 641 H = 610

7) 882 = 621 + J J = 261

8) 269 + 472 = K K = 741

9) 305 + 536 = L L = 841

10) 901 = M + 876 M = 25

11) 607 - 275 = N N = 332

12) 907 - 659 = P P = 248

13) Q = 98 + 217 Q = 315

14) R = 584 - 282 R = 302

15) 818 = 863 - S S = 45

16) 879 = 880 - T T = 1

17) U - 645 = 193 U = 838

18) 113 + V = 552 V = 439

19) 443 + W = 534 W = 91

20) Y + 612 = 760 Y = 148
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Find the value of the variable.

858 841 332 915

444 610 248 160

25 53 261 741

1) 961 = B + 517 B = 444

2) 944 - C = 891 C = 53

3) E = 888 - 30 E = 858

4) 960 - F = 800 F = 160

5) G = 291 + 624 G = 915

6) H + 31 = 641 H = 610

7) 882 = 621 + J J = 261

8) 269 + 472 = K K = 741

9) 305 + 536 = L L = 841

10) 901 = M + 876 M = 25

11) 607 - 275 = N N = 332

12) 907 - 659 = P P = 248

Answers

1. 444

2. 53

3. 858

4. 160

5. 915

6. 610

7. 261

8. 741

9. 841

10. 25

11. 332

12. 248

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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